Best model for HELP J142857.854+343641.427 at z = 3.679 x2=1.96
OPTx2=1.06 IRx2=13.74 threshold (OPT IR)=37.44 [um]

. Stellar attenuated
102 :

S Stellar unattenuated
. —— Dust emission
. —— AGN emission
10! = Model spectrum
® Model fluxes
M oObserved fluxes
_ 100
=
S
— 107!
X
=
e -
1072
1073
507 5
q_— 1 3
= ] == (Obs-Mod)/Obs
S ]
S ]
7 ]
 Or-rHV®NAT/YYI1———3~<--—-—-"—-"-}——"—"—""————=——"————————————-
o ]
) ]
S ]
S ]
f_U—l T UL L | UL R | UL R | UL LR | T T T T CIGALE
& 10° 10! 102 103 104 10° il

Observed wavelength [um]



